Big Maths Beat That!: Teacher Notes

CLIC Challenge 8

Step Location in the CLIC framework Title of Step
Progress Drive Step No.

Q1 Counting: Count Along in 4 Ways 2 10s / 20s / 50s / 250s | 50s
Q2 INN: Addition and Subtraction 2 | can add hundreds
Q3 INN: Number Bonds to 10 2 | can find the missing piece to the next multiple of 10
Q4 INN: Finding Multiples 1 | can find Mully using my tables
Q5 Calculation: Addition 17 | can solve 2d +1d
Q6 Calculation: Addition 18 | can add a 2d tens number to another one
Q7 Calculation: Subtraction 16 | can take a 1d number from a multiple of 10
Q8 Calculation: Subtraction 17 | can solve 2d - 1d
Q9 Calculation: Subtraction 18 | can solve any 2d - 1d
Q10 Calculation: Subtraction 19 | can solve any 3d - 1d
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@ Complete the sequence

50,100, 150,

() Multy is hiding
behind the biggest
multiple of 10

@]&388 without going past 43

\ﬂ\ i
© 30+60-= @ 80-6= |@ 48 -5 =

Date: A
JA

- © 43-7= @ 343-7-=
e : B

c IS N

Eh g — =
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@ Complete the sequence

200, 250, 300,

() Multy is hiding
behind the biggest
multiple of 5

@]&388 without going past 24

\ﬂ\ i
10+30= (@ 50-3= 1@ 37-4-=

Date: A
JA

- ® 32-5= @ 257-6=
e : B

c IS N

Eh g — =
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@ Complete the sequence

500, 1000, 1500,

() Multy is hiding
behind the biggest
multiple of 10

@]&388 without going past 67

\ﬂ\ i
40+4o= @ 30-7= 1@ 56-3 =

Date: A
JA

- © 51-6-= @ 175-8=
e : B

c IS N
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@ Complete the sequence

2000, 2500, 3000,

() Multy is hiding
behind the biggest
multiple of 5

@]&388 without going past 36

\ﬁ\ i
© 70 +20= @ 40-5= 1@ 29 -6 =

Date: A
JA

- © 78-8= ® 461-4=
e : B
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@ Complete the sequence
5000, 10000, 15000,

() Multy is hiding
behind the biggest
multiple of 10

@]&388 without going past 54

N i
50+3o= @ 90-4-= ﬂ\} 65-4=

Date: A
JA

- ® 25-9= ® 662 -5 =
e : B

c IS N

Eh g — =

@) Andrel oot on..) MWVIEN'SITIS CoRER! HRA\VERABERTRITH AL 10
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@ Complete the sequence
30000,

35000, 40000,

() Multy is hiding
behind the biggest
multiple of 5

@]&588 without going past 41

\ﬂ\ 1
©) 20+ 30-= @ 70-2= 1@ 78-6=

Date: A
JA

- ® 62-7-= @ 534 -9 =
e : B

c IS N

Eh g — =

@) Andrel oot on..) MWVIEN'SITIS CoRER! HRA\VERABERTRITH AL 10
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@ Complete the sequence

0, 3.1,

’

() Multy is hiding
behind the biggest
multiple of 10

@]&388 without going past 78

N I
10+60= (@ 80-4-= % 86-5-=

Date: A
JA\

- © s54-8= ® 193 -6 =
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eh e e =
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@ Complete the sequence

31,4,4%,

’

() Multy is hiding
behind the biggest
multiple of 5

@]&388 without going past 28

\ﬂ\ i
30+30= @ 50-7= 1©® 98-7=

Date: »\
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- ® 71-4-= ® 745 -8 =
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@ Complete the sequence

450, 500, ’
, 650

() Multy is hiding
behind the biggest
multiple of 10

@]&388 without going past 82

\ﬁ 1
© 30+40-= (@ 30-6= 1@ 57-4-=

Date: A
JA

- © 45-8-= @ 371-3=
e : B

c IS N

Gh g — =

@) Andrel oot on..) MWVIEN'SITIS CoRER! HRA\VERABERTRITH AL 10
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@ Complete the sequence
6000, , 7000,
7500,

() Multy is hiding
behind the biggest
multiple of 5

@]&388 without going past 48

\ﬁ 1
© 20+40-= @ 90-3= 1@ 49-8-=

Date: A
JA

- © 63-9-= @ g22-7=
e : B

c IS N

Gh g — =

@) Andrel oot on..) MWVIEN'SITIS CoRER! HRA\VERABERTRITH AL 10
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@ Complete the sequence

50,100, 150,
200(, | 250

() Multy is hiding
behind the biggest
multiple of 10

without going past 43

(C

Gh

@ Andrell Education UD

N T
© 30+60-= @ 80-6= % 48 -
90 JA 74 43
® 43-7-= ® 343-7=
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@ Complete the sequence

200, 250, 300,

350 |, (400

() Multy is hiding

multiple of 5

behind the biggest

without going past 24

10 + 30 =
40 J/A\ 47 33
© 32-5-= ® 257-6=
@EEEEEEE EN ? -
WYIURSTIS CORER: TG U BEAT THRTRY 10
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@ Complete the sequence

500, 1000, 1500,

2000/, |2500

() Multy is hiding

multiple of 10

behind the biggest

without going past 67

T i
© 40+40-= @ 30-7= ]ﬂifll 56 -
80 J/A\ 23 53
© 51-6= ® 175-8=
VNS TS CORER: IRUR 1 BEOT TERTS! NP



@ Complete the sequence

2000, 2500, 3000,
3500( , (4000

() Multy is hiding
behind the biggest
multiple of 5

@]&388 without going past 36
70 + 20 =
Datc:
ate 90 J/A\ 35 23

- ® 78-8= ® 461-4 =
@)@ i — I

CrfC- & ||
GhaNS Rt = el =

@) Andrel oot on..) MWVIEN'SITIS CoRER! HRA\VERABERTRITH AL 10
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@ Complete the sequence
5000, 10000, 15000,

20000| (25000

() Multy is hiding
behind the biggest
multiple of 10

without going past 54

50 + 30 =

80 J/A\
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@ Andrell Education UD

YIRS TS CORED: TG U BEAT THRTRY Yoy



(C

Gh

@ Andrell Education UD

auRl ciic

30000,

@ Complete the sequence

35000, 40000,

45000

) 50000

() Multy is hiding

multiple of 5

behind the biggest

without going past 41

N i
©) 20+30= @ 70-2= % 78 -
50 J/A\ 68 72
® 62-7-= ® 534-9-=
Bl
WYIUNSTHSCORER: RT3 0 BERT THRTEY 10,
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@ Complete the sequence
1
ol 2 1 ’
1
1 E ’ 2
() Mully is hiding
behind the biggest
multiple of 10
@]&388 without going past 78
\ﬂ\ i
© 10+60-= @ 80-4-= 1@ 86 -
3
Defte 70 J/A\ 76 81
- © s54-8= ® 193 -6 =
e i — Ul L
Gh e = | =
@ pnaren o) WYIEASTRSCoRER: CRUE 1 BEAT THRTE 10,
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@ Complete the sequence

31,4,44%,

> |,

5%

() Multy is hiding

multiple of 5

behind the biggest

without going past 28

N I
30+30= @ 50-7= % o8 -
60 A\ 43 91
© 71-4-= @ 745 - 8 =
dIEll] -
s == L || D223 SIS
MYICRSITRSCOREDL ARG U BEAT THRTE®



(C

Gh

@ Andrell Education UD

auRl ciic

SERONR

@ Complete the sequence

450, 500,

550

’

600 |, 650

() Multy is hiding

multiple of 10

behind the biggest

without going past 82

N i
30+40= (@) 30-6= % 57 -
70 de 24 53
© 45-8= ® 371-3=
WYIENSITRSCORER: LRTE 0 BRRT TERTEE 10,
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6500
8000 |.

6000,
7500,

@ Complete the sequence

, 7000,

() Multy is hiding

multiple of 5

behind the biggest

without going past 48

C 1
© 20+40-= (@ 90-3= % 49 -
60 J/A\ 87 a1
© 63-9-= @ g22-7=
@EEEEEEE : N - —
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